Name: K E\( Math 125 Test #3

1) Graph the line on graph paper:  -3x+2y=-2

2 2 GRAPH
Y= % x-\)

2) Graph the inequality on graph paper: yrs —%x +6

M= - 3/2 SEE
GRAPW
b= b

3) a) If you deposit $850 into and account that gets 5% annual interest compounded
monthly, then how much money would you have in the account after 6 years?
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b) How much interest will you have made after 15 years?
o \1201%)
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4) If you have $15,000 to invest and you need it to be $21,000 within 12 years, then
what simple interest rate would you need to get?

21,000 = 150004 15000 ()(13)
Looo = 15p00 v (1)
0% = ¢

C= 3030/0




5) Joe determined that he needs to have $1,000,000 for when he retires in 30 years.
His account earns 4.5% interest annually.

a) How much money would he need to deposit each month into the account for 30
years in order to reach his goal?

.ous\1 ()
\ 000000 = ?((\* 13 '\)
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b) How much total money will he have put into the account?

¥1316.86 (19)(30) = 3 yu OA . (LO

c) How much total interest will he have earned after 30 years?

1000000 - {74, 09.0 = 8 535,930.40

6) Michelle knows that she will have $600,000 when she retires in her account. If she
sets up a payout annuity for 25 years in an account paying 6% interest, then how
much would the annuity provide her each month?
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~7) Jasmine can afford a monthly car payment of $275 a month. She found a 6 year car
loan at 3.5% interest.
a) How expensive of a car can she afford for that monthly payment over the 6

years?
-12()

p- 215( |-(1+ L‘%E’)
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12

R

P~ 211835.23

b) How much total money will she have paid for the car including interest?

3715(13) = 419,800

c) How much of that money was interest?

T = 19%00- 11339.¥3
T 2% 190417

8) Solve the linear programming problem by graphing (on graph paper) and then
. determining which vertex maximizes the objective function given. (make sure to
label all vertices and shade the feasible region)

Maximize: A =10x+6y subject to the constraints below:
x>0

y=20
ys—lx+9

. SEe
—-2x+2y < -6 GRP\V\'\




31‘50
9) Astore sells two types of toys, A and B. The store owner pays3$&and $15 for each

one unit of toy A and B respectively. One unit of toys A yields a profit of $2 while a
unit of toys B yields a profit of $3. The store owner estimates that no more than
1800 toys will be sold every month and he does not plan to invest more than
$15,000 in inventory of these toys. How many units of each type of toy should be
stocked in order to maximize his monthly total profit?

a) Write the Equation to show Profit (Maximum)

T= 20 +3%

b) Write the 4 Inequalities to show the conditions of the problem (constraints).
A+ B £\200
15A + DB £ |1S000
A20
20

c) Graph the inequalities on the graph paper and find the vertices of the feasible
region. Then substitute the values into your Profit equation to find out how
many of each toy you should sell in order to maximize the profits.

SEE  GRAPY  PAPER
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